NAME: ____________________________________

Part I: PREDICT STEP: Think about an assembly line for producing a product, greeting cards. The machinery and all resources, other than labor, are fixed. 

(1) Answer the following:

To begin with, we start with one unit of labor. Then we incrementally add an additional unit of labor to the production process. What do you think might happen to the total number of greeting cards produced (total product) as we add more and more labor?

Now think about the additional product (greeting cards) produced as each additional unit of labor is added. This is called marginal product of labor. What do you think might happen to marginal product of labor as more labor is added to the process?

We are now going to perform an experiment that proves the law of diminishing marginal returns using this example. What do you think this law says?

